Manuals+ — User Manuals Simplified.

Sikaic BOCV12CM2H 4 in 1 \\ e
Multi Functional Coffee Table '\ il

Sikaic BOCV12CM2H 4 in 1 Multi Functional Coffee Table
Instruction Manual

Home » Sikaic » Sikaic BOCV12CM2H 4 in 1 Multi Functional Coffee Table Instruction Manual =

Contents
1 Sikaic BOCV12CM2H 4 in 1 Multi Functional Coffee
Table
2 Product Specifications
3 Product Usage Instructions
4 PARTS
5 HARDWARE
6 INSTALLATION INSTRUCTION
7 Frequently Asked Questions
8 Documents / Resources
8.1 References

SIKAIC

Sikaic BOCV12CM2H 4 in 1 Multi Functional Coffee Table


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/sikaic
https://manuals.plus/sikaic/b0cv12cm2h-4-in-1-multi-functional-coffee-table-manual.pdf
https://manuals.plus/#sikaic_b0cv12cm2h_4_in_1_multi_functional_coffee_table
https://manuals.plus/#product_specifications
https://manuals.plus/#product_usage_instructions
https://manuals.plus/#parts
https://manuals.plus/#hardware
https://manuals.plus/#installation_instruction
https://manuals.plus/#frequently_asked_questions
https://manuals.plus/#documents_resources
https://manuals.plus/#references

Product Specifications

« Product Name: 4-1 Multi-Functional Coffee Table

« Number of Parts: 21

Materials: Wood, Metal

« Additional Tools Required: Dual-purpose screwdriver, Fixed spanner

Product Usage Instructions

Step 1: Unboxing and Organizing

o Begin by unpacking all the parts and organizing them according to the assembly manual.
« Step 2: Assembling the Table Top
o Attach Top board A, Top board B, and Top board C using Cam bolts and Wood dowels.
Step 3: Attaching Table Legs
o Connect Table legs A and Table legs B to the table top using Cam locks and screws.
« Step 4: Building the Body
o Assemble the side panels, dividers, and shelves using the provided hardware (screws, bolts, etc.).

« Step 5: Securing Components

o Tighten all the screws and ensure all components are securely attached.

PARTS






HARDWARE

——

—

—

Top board A Top board B Top board C Table legs A
@] 1pc @] 1pc 3] 1pc @] 2pcs
Table legs B Left upper side panel | Right upper side panel Lower side panel
®] 2pcs ®] 1pc @] 1pc I 2pcs
& — 1
"._.;.--l-'—--—-
Front and rear panels Left middle divider Right middle divider Middle shelf
@] 2pcs o] 1pc an 1pc ] pc
Lower divider Lower shelf
@[ Zpes @[ Tpe




o

&

=

-

Cam bolt Cam Lock Wood dowel ®20mm Hole sticker
Al 50+2pcs B 50+2pcs c] 24+2pcs D] 50+2pc
ol S

7x40mm screw 3x10mm screw Wire buckle Power socket

E | B+2pcs F | 14+2pcs G| 7pcs H | 1pc
3.5x14mm Screw Hinge 3.5x12mm Screw Iron cross bar A

J] 2pcs K[ 3pcs L] 26+2pcs M| 2pcs

/ -

Iron cross bar B Pad
NI 2pcs P | dpcs

4x14mm screw Dual-purpose screwdriver LED strip
S | 48+2pcs T] 1pc U | 1set

Fixed spanner
V] 1pec

|

i

e

Arroa must Eace bale
Gs
- ﬂ &'

Gently screw cam
bolt into the
threaded anchor.

Insert the wood dowel

halfway into hole,

Screw the camlock
firmly into locked
position

INSTALLATION INSTRUCTION

























Fix the hardware R firmly on the
plate 3 with the self-tapping thread S







Fix the hardware R firmly on the
plate 2 with the self-tapping thread S

Tighten the screws on hardware R here







Frequently Asked Questions

« Q: How many parts are included in the package?
o A: The package includes a total of 21 parts including table boards, legs, panels, hardware, and tools.
« Q: What additional tools are required for assembly?
o A: You will need a dual-purpose screwdriver and a fixed spanner to complete the assembly process.
« Q: Can the table be disassembled for moving or storage?
o A: Yes, you can disassemble the table following the reverse steps of the assembly instructions for easy

moving or storage.

Documents / Resources



ASSEMBLY INSTRUCTION
41 Mult-Functial Coffee Table

Sikaic BOCV12CM2H 4 in 1 Multi Functional Coffee Table [pdf] Instruction Manual

- | | BOCTZZ2KWG, BOCV12CM2H, 4 in 1 Multi Functional Coffee Table, Table, Coffee Table, 4 in 1
"= | Coffee Table, Multi Functional Coffee Table, BOCV12CM2H 4 in 1 Multi Functional Coffee Table,
BOCV12CM2H Coffee Table

References

« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/m/6baa39490cdf40de75adddaca0aba4e20079fdf305bc7dea7293ed10d9e3b3cc
https://manuals.plus/m/6baa39490cdf40de75adddaca0aba4e20079fdf305bc7dea7293ed10d9e3b3cc_optim.pdf
https://manual.tools/?p=13680111#MTA0LjI4LjIwMi4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	Sikaic B0CV12CM2H 4 in 1 Multi Functional Coffee Table Instruction Manual
	Sikaic B0CV12CM2H 4 in 1 Multi Functional Coffee Table
	Product Specifications
	Product Usage Instructions
	PARTS
	HARDWARE
	INSTALLATION INSTRUCTION
	Frequently Asked Questions
	Documents / Resources
	References



